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A) Barond B) 0%
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A) B.05%.08 &5

B) ($sedo

C) 09R.3.0D. 68 Ierdd

D) &r&y) Faesd

Lo EBBo® 08D (1506 Aé?
C )

A) &5 B) se8c%0

C) 56&0 D) 08

Fe oo oo BwE) ©hsE el
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C) 808 D) &ro&

2S5 S5 BB MY
235059 B0E7°5? ( )
A) &3 1 B) &S 5

C) 23358 3 D) S&0a8 26

Each carries one mark
Which is known as city of Golden
temple? ( )
A) Mumbai B) Jaipur
C) New Delhi D) Amritsar

Widal test is used for diagnosis of which

of the following disease? ( )
A) Typhoid B) Tuber culosis
C) Polio D) All the above

Mypadu beach is located in which
district? ( )
A) YSR Kadapa

B) Prakasam

C) SPSR Nellore

D) East Godavari

What is the largest gland in our

human body? ( )

A) Brain B) Liver

C) Skin D) Bone

What is the official language of
Goa State? ( )

A) Malayalam  B) English

C) Konkani D) Hindi

When do we celebrate National
doctor’s day? ( )

A) July 1 B) June 5

C) January 3 D) November 26
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7.

10.

BB wsiydro Do & Bod o6&’
568850 @3%’33%33&0&? ( )
A) 68 8’3665@ @aﬁg‘?’ooiﬁ F0&8%0
B) (& 3drodirs® S0TD
ééa's?gﬁa@ g%30
C) ABasd (roaree® HrdrFe
g%%0
D) ﬁ@aysa)en, erose %0
(Beedo Beres® ;@Y (HASeBoT
Sodrod vdsore ﬁéa&%;me)éa
38rose§a D DHE FHTrod
Bsedo Bep NBO% T do)Ew

22087 ( )
p S B)oE
C) @85 D) &&f%0

139 038 398 K$02050AI8?
A) Bdozey BSE Soad( )
B) 08_655@50 PSS HSoadd

C) ordedness Sogy

D) 9098 J8558 o S S0t

s 80d S5R° B8 H0205H0BH?

()
el
TN,

A) 6&5585%30&‘9 &5 30805°
B) @596@3

C) 588 I8 B¥o

D) esprd Sie)

For whose benefit, YSR
Amrutha Hastham program was
introduced? ( )
A) To higher graduates

B) To the employees of village
secretariat

C) To the tribal area women

D) To pregnant & lactating women

What is the name of the vehicles ar-
ranged by prakasam districtpolice
department, for safe droping of
women to their destinations during

night times? ( )
A) Nirbhay B) Disha
C) Abhay D) Mee kosam

139 is related with? ( )
A) Toll free number of police dept.
B) Toll free number of railway dept.
C) Ramanujan number

D) Toll free number of Anti
Corruption dept.

10. The following logo is related with?

C )

I e\
v/\\v
« 720\,
A) Reserve bank of India
) PAN Card
)
)

Indian Airforce

B
C
D) Aadhar Card
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D38 D3,

11. [[]o36& 4 Sgepomeon SOA &
06. @ond[ [ 1] ]&® ¢o’ o

Bergomee N0gg od? ( )
A) 20 B) 8
C) 16 D) 12

12. SR@0SE® 508 63 (Bahere
éosp§ D0os? ( )
A) 14 B) 12
C) 10 D) 18

13. FIVE &3 %) GHWD e &8
Bbhadod. wond HURT & Hio
9 Borr BF Dadartddod?( )
A) ITSS B) ITST
C) GTSS D) ITQU

14. A,B en 8&toen. B GwE) 558 C,
o) C @) Hrdod D. wand
AD &0 NHTE? ( )
A) ererron - S8
B) $orin - @entd
C) B0l - B
D) d&zon

15. oogd HARE eﬁmegdﬁné): ..........
( )

A) S B) S8518&

C) Ersargeyaind D) Do

16. 2.8 S8K8S° 23 od regiyen
Eod. @085 9 $08 =048
SRS SoDHTS. 8 LHod &eod
SRS S5B0DHEB. HADS o8
D0AT H0 0B BHHED.
®oNd @ SEKBS® mohR IO

0 Kogyg? ( )
A) 9 B) 15
C) 14 D) 17

11.

Each [_] consists of 4line
segments then find the total num-

ber of line segments in [TT T ]
( )

A) 20 B) 8
C) 16 D) 12

12. &Count the number of
triangles? ( )
A) 14 B) 12
C)10 D) 18

13.

14.

15.

16.

In a code language, FIVE is writ-
ten as GHWD. Then how can we

write HURT? ( )
A)ITSS B) ITST
C) GTSS D) ITQU

A and B are brothers. C is the sis-
ter of B. D is the son of C. Then
find the relation between Aand
D? ( )
A) Uncle - Son

B) Uncle - Son in law

C) Father - Son

D) None of the above

( )
A) School B) Class

C) Headmaster D) Student

In 23 students of a class 9 students
can read only English, 8 students
can read only Hindi. The remain-
ing students can read english &
hindi. Then find how many students

can read English ( )
A)9 B) 15
C) 14 D) 17
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17. 91891- - - 8918 3 oHodst

18.

19.

20.

21.

e’ soXdewdd o0

BoBok. ( )
A) 819 B) 918
C) 189 D) 891
1 -A =7
A\ x [ =144
005 AQensd dos? ( )
A) 18 B) 16
C)9 D) 8
X
INK
E

2 D008° xy o3 wgo TTe DEE
@Jé’éé’)owﬁ& wOoLok. ( )

A) AMI B) 1UN
c) NI D) WM

8ol DS grred) Fedobod.

N ( )
AN
o Pl o

17. 91891 8918 what is the miss-
ing part? ( )
A) 819 B) 918
C) 189 D) 891
1. O — A =7
A\ x [ =144
Then find the value of A\ ()
A) 18 B) 16
C)9 D) 8
19 X
INK E
Y
Find the mirror image of the given
picture ( )
A) i B) IUX
C) NI D) X
20. Complete the given picture( )

N~
ZE

A) B B)

/2,

oPplqd o

“TPADHHES B 1HoRE° [PeHadS SPagBTY 7 ol (@RS FBIH? ()

A) @eacge'i_éewo B) 23

C) 888

D) oecdh(&@Pen L02TNT°)
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22.

23.

24.

25.

26.

27.

28.

29.

30.

31.

“SeHH) FQ Sod. TEDS Beh. HIBTE HIGS ePDHTO, b T° wBE0”

&3 Seren RDEING? ( )
A) 8% B) 6o?§oﬁa§ C) 60?§o§3§ at’%g X)) D) SSond
ToETO%0ee, eR8E, eridEredy $S5bost (PR BSowe DXB? ( )
A) S35 B) &8 C) &% D) &meeocs

Bod oS “Trddenyen” e 0S50 T8 ISE? ( )

A) S(Eorden B) éoéa(g/tﬁ)en C) é(sgsﬁioe» D) 3&oen
RS B Doren OB 2l IR oTYT) BS0FHE TR

DX00ETB? ( )
A) SPEHEES B) &8  C)ddedo D) exdodo

8od Qs BYD J&rA8 Grrsrde d&? ( )
A) o538 B) &ds8othenC) swgo® D) Hobarolshen

“KEPS Beé QB ” O30 d BEJD E0? ( )
A) éoégﬁgé mééo B) @@&gé mé&o

C) @&Uggigé TPESO D) c‘O%’goﬁPgé 850

“TPiB0” Hred) DEBHoB ( )

A) D + orgo  B) D + erigo C) &g + K&o D) & + K&o
“QoH% FTRL oK) P80 wgrsorr S8K8S° woldsa™ DI

8?7 ( )
A) Eptd - 83 B) £ - So&

C) &Y - dode D) E)sptd - 8¢

Bod QS SJIPre G @é@& - &é@éé;@ 285 HBoWod ( )
A) B850 - S8R B) D850 — HHgsw

C) B8S0 - edSo D) & - 206

Sharmila wants to play tennis. But she doesn’t have a tennis racquet. How

would sharmila express her wish? ( )
A) | want a tennis racquet B) I wish | have a tennis racquet
C) I wish | had a tennis racquet D) | wish a tennis racquet
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32. “The dog may attack you if you run” ( )

A) Giving permission B) Expressing possibility
C) Taking permission D) None of the above

33. What is psychology? ( )
A) The study of animals B) The study of earth
C) The study of the cultures of the past D) The study of the mind

34. Ramanwasborn____ Tiruchirapalli Tamilnadu (Fill in the blanks with proper
prepositions.) ( )
A) at, in B) on, in
C)in, at D) on, at

35. National science day is celebrated in India on ( )
A) 14 ™ November B) 15 " August
C) 28 ™" February D) 26 ™ January

36. Rahul Dravid is one of the greatest batsmen in the world. (Change the above
sentence into comparative degree.) ( )
A) Rahul Dravid is a great batsmen
B) Rahul Dravid is greater than any other batsmen in the world
C) Rahul Dravid is greater than many other batsmen in the world
)

D) Rahul Dravid is not the greatest batsmen in the world

37. He was acting in a very (child) way. Fill in the blank with

suitable form ( )
A) Child B) Childs
C) Children D) Childish

38. Choose the wrong spelt word in the following ( )
A) Archaeology B) Gelogy
C) Physiology D) Zoology

39.  “Won't” is the full form Phrase of the following ( )
A) would not B) will not
C) we not D) why not

40. A man who tells jokes and funny stories is called a ( )
A) jester B) wit C) stallion D) gesture

Merit Test No: EE/MT/VII/IML/009 07.02.2020 10 AM to 12 PM
www.educationalepiphany.org 9966648484



41.

42.

43.

44.

45.

B8o Sol& & e Jabne
JPd 6:1, 5 Jone BXoard =00
Sabine AP 7:2 wowd (HuBo
E°H% Hany? ( )
A) 5 Sonen  B) 6 Sonen

C) 9 Jonen D) 10 Sonen

B ep Hogs® izlé S0 P,
55005 48 Hoge < % o q

oS p+q =7 ( )
A) 13 B) 18
C) 31 D) 24

g Sdrosy zb’egodoe)asoei“s
DB EBegeen (3x-2)° 508350
(Xx+48)° ®o00d @& IJroHy
zﬁé)é)a)o@’sf’o @&?ocg 880 end

D0 ? ( )
A) 73° B) 105°
C) 107° D) 110°
= 211 5808 b=1>eand axb
a= i =5 and ax
83@3%66 Does? s ( )
A) > B) 36
5
C) 1 D) 3

et 56 (B0 a8 Imdo 8
Honee® 0805y ®and, @ I0go 3
B erHeodd KJ§ 5°©0 )OS ?

( )
B) 12 Qo
D) 10 Ko

A) 16 Joi
C) 18 Ko

41.

42.

43.

44.

45.

MATHEMATICES

At present the ratio between
the ages of father and son is
6:1, After 5 years it will be 7:2.
Then the age of son at

present? ( )
A)5years B)6 years
C)9years D)10 Years

1L of a 5 dozen fruits is p, 1 ofa
4gfruits is q, then the value of p+q
=7 ( )
A) 13 B) 18

C) 31 D) 24

In a parallelogram, the opposite
angles are (3x-2)° and (x+48)°
then the greatest angel is

C )

A) 73° B) 105°
C) 107° D) 110°
3.1 1 3
= - === =7
a 55 andb( 53 then)axb /
36 25
A) 55 B) Y
5
C)1 D) e

A sum of money becomes double
in 8 years at simple interest. In
how many years it will become
three times?

( )
A) 16 Years B) 12 Years
C) 18 Years D) 10 Years
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46.

29

47.

48.

49.

50.

51.

60° -

/>

0% X Dend Do&? ( )
A) 160° B) 100°
C) 140° D) 20°
& Bod BS° D Soage @)
Sfen Hodasoo éodéffeﬁo
QS 05°80? ( )

A) 08 7 QDresdoggen

B) 3088 7 832 Hoes Qoggen
C) o8& 7 Socsnd Qdoggen
D) 308& 7 (Hd5ed éosp?gen

a8 Sogg @BwE) 40% &° 30%
Qend 69 ol & ‘éoapé D0e?

( )
A) 550 B) 575
C) 750 D) 950
& (808 S° [Eoarsiuhe 5006
Q6? ( )

A) 38R0 B) DsdoeesTo (§gheso
C) Bodoszhe D) éé)iﬁééaéaaaao

é?&@ éé@vg DoggE HoBasw ﬁ@@
ea;asa?’.yg ogg® Ko B0 Do&?

( )
A)O B) 1
C) 2 D) 3585w
& (80d wseorod® QD $E@H
Heren s0H? ( )

A) oy Hzen B) e Seéhd(oen
C) ©Q) QoerT0 (Bgheren
D) ey égﬁ;ﬁéﬁ@gm

46.

47.

48.

49.

50.

51.

60° -

/>

Find the x value ( )
A) 160° B) 100°
C) 140° D) 20°

Mean and median are not equal
in which of the following ( )
A) First 7 natural numbers

B) First 7 odd natural numbers
C) First 7 composite numbers
D) First 7 prime numbers.

30% of 40% of a number is 69.

Then the number is? ( )
A) 550 B) 575
C) 750 D) 950

Which of the following is not a
regular polygon? ( )
A) square

B) equailateral triangle

C) Regular pentagon

D) Rhombus

The difference between the smallest
positive integer and the greatest

negative integer is ( )
A)O B) 1
C)2 d) can’t say

Among the following shapes
which are not similar fig-
ures? ( )
A) All circles

B) All squares

C) All equilateral triangles

D) All rectangles
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52.

53.

54.

55.

) Koy JWBS® Hoded &&3rodo

€057 ( )
A W B)Z
C) N D) Q
-DX(-Dx(-1)x........ (231 %)
DenH? ( )
A) 231 B) -231
O1 D) -1
ODEDHDPH0 Dend IQPEF

( )

A) 1 o0& e‘ééa&zé
B) 1 S0& Q%)
C) 1 808 S5 Sae 1 8 Skwdo
D) 1 808 &) Soe 1 8 $dwdo

<
75° A%°

) 563085547 Dend o? ( )

56.

57.

A) 60° B) 75°
C) 120° D) 45°

2.8 2% 1 ded 33@3’3@551012/2
8.8 (Hosrdnod. & =% 105
Hog EFend® dog Srdo

SEETBoH C )
A) 112 km B) 160km

C) 116 km D) 144km

p:q i1 r's @and (8od St H&
Q&0 ( )
A) pr=gs B) pg=rs

C) ps=qr D) H&s0%H

52.

53.

54.

55.

56.

o7.

Which number set has no
additive identity element?

C )

A) W B)Z

C)N D) Q
-DXCDX(1)X............ (231 times)
is equal to? ( )
A) 231 B) -231

C)1 D) -1

The value of an improper fraction
is always ( )
A) Less than 1

B) Greater than 1

C) Less than or equals to 1

D) Greater than or equals to 1

<
75° 45°

The value of “Z” in the above fig-

ure is ( )
A) 60° B) 75°
C) 12Q° D) 45°

A carruns 1072 km using 1 litre of
petrol, then the distange will be
covered by it using 10§ liters of
petrolis ()

A) 112 km  B) 160km

C) 116 km D)144km

If p:q :: r:s then which of the fol-

lowing is true? ( )
A) pr=gs B) pg=rs
C) ps=qr D) None
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58. <:Z;8§k
E C
2 DBos® ( )
A+B{CHD4E =7 P
A) 1800 B) 360°
C) 5400 D) 7200
59. (Bgha &fBe DB Dot
QNH0ETSEH? ( )

60.

61.

62.

63.

64.

A) ﬁ)é}e‘écséo@so

B) ooeo'sso@ﬁo

C) @oééée)é '550@60
D) é@?ﬁeﬁ 'sso@ﬁo

a,b,cen oﬁycéaéoaageao, N8B 030
a+(b+c)=(atb)+c @ond ad oY

éospéeJeS'S Qo8N .......... qﬂéézéao
( )

A) éoéaéé B) DAK00%H

C) 35358 D) g

0.7% So &S sco e St

IgBHSSoE. ( )

A) 0.7 B) 0.07

C) 0.007 D) 70

2x+3y-2 5008 -X+4y+27 £ HASDD

58y Densd do? ( )

A) x+7y-z B) 3x-y-3z

C) 3x+y+3z D) x-7y-3z

150 Sood 8)63!3603@ Ko PBTOS
arend éospé R0 P8 FH0I
DRS00 oS erend ‘éosp?g Q0O

( )
A) 90 B) 50
C) 40 D) 60

6,3,5,6,9,5,8,9,6,2k+1,7,9,13 & a0
9 ®ond K dend do&k? ( )
A) 7/2 B) 9
C) 4 D) 3

58.

=,

D
In the above figure ( )
|A+|BHCHDHE = 7

59.

60.

61.

62.

63.

64.

A) 180° B) 360°

C) 54Q° D) 720°

The point of concurrennt of three altitudes
in a triangle is called as ( )
A) Centroid B) Ortho centre

C) Incentre D) Circum centre
If a+(b+c)=(a+b)+c, for all
integers a,b and cis
under addition. ( )
A) Closed

B) Commutative

C) Associative

D) Distributive

Represent 0.7% in decimals?

( )
A) 0.7
C) 0.007

B) 0.07
D) 70

The difference when -x+4y+2z is
substracted from 2x+3y-z is? ( )
A) x+7y-z  B) 3x-y-3z
C) 3x+y+3z D) x-7y-3z

In a school of 150 students, the
number of boys are equal to the
percentage of girls, then find the
number of boys? ( )
A) 90 B) 50
C)40 D) 60

The mode of the data
6,3,5,6,9,5,8,9,6,2k+1,7,9,13is 9, then

find the value of K ? ( )
A)7/2 B)9
C)4 D) 3
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65. Erdrrabeln a8 8ér 82000 65. The cost price of one quintal veg-

0% 59, a8 &88° 8. 25 o @3)3@26 etables is Rs.2000 and sold one
$d) ergido Nos?  ( ) kg for Rs.25, then find the profit
A) 18% 8) 20% percentage? ( )
0 0 A) 18% B) 20%
C) 30% D) 25% C) 30% D) 25%
o 66. In ABCD trapezium, ABJ||CD and
66. ABCD (82205085 AB||CD £:805%0 A pers p’ < IE”= >,
|A: [p=12 , |C: [B=45 then the values,of |A,|C are
wand |A[C, Devden SEBT ¢ )
A) 40°60° B) 40°80°
( ) C) 60°,80° D) 80°100°
A) 40°60° B) 40°80°
C) 60°.80° D) 80°,100° 67. If two angles (5x-30)°,(3x+10)°
are linear pairs, then find the
67. (5x-30)%,(3x+10)° @0 Bhasd value of x? ()
5000 ABPBAS x=7? ( ) A) 50 B) 25
A) 50 B) 25 C) 20 D) 35
C) 20 D) 35 68. The sum of the ages of 4 children
o born at the intervals of 2 years
68. .895)5> Both Hoe @osos” each is 48 years find out the age
PGS Jeofhdr Hye HAhIHe of the eldest child? ()
Swo 48 Soneo wond 08° e A) 16 years B) 15 years
2ol Hah) dosd?  ( ) C) 13 years D) 12 years
A) 16 Son  B) 15 o
C) 18 %ou D) 12 Son 69. Whoinvented logarithms?  ( )
A) John Nepiar
69. c‘éOéCgéJ"cU"@éo ErdPohodI B) Aryabhatta
PZRE ADB>? ( ) C) Bhaskaracharya
A) &8 IDHE D) Srinivasa Ramanujan
B) @652;5%3
C) e;%gpt’a%; _
D) @Sa% N 70. Degree of 2020 is ( )
A) 2020
70. 2020 @) H0rwo Qod?  ( ) B) 0
A) 2020 o1
B) 0 D) not defined
C)1

D) ?06553071333&63

Merit Test No: EE/MT/VII/IML/009 07.02.2020 10 AM to 12 PM
www.educationalepiphany.org 9966648484



71.

72.

73.

74.

75.

76.

503 ) AyEol.R: &rdEo§)e’
RBE &0 60e0d.

S: efySrss Saroye & oSro e
©ershAAH0 WEB)E 60t ( )
A) R ééego,S @éégo

B) R @ée‘é?go,s @éé?go

CR @ée‘é?go,s ééé?go

D) R ééé?go,s ééé?go

25 iy HEHes O B sl

55880 Hdodoeron? ( )
A) Db B) 8R0cr erdo
C) 3% D) 52508
1km/h = ( )
A) 5/18 m/s B) 1000/3600 m/s
C)18/5m/s D)A&B
Limestone + esso -

( )
A) So, B) Co,
C) No, D) NaoH
2.8 (HBFo CoE), eig@'iéé 2OAE,
By B0 ( )
A) 255 B) éﬁg?@)
C) %’géom S08OoH
D) Soooehod
088 55°§o$3°é>o B Lok
SPQPeB 52860 ( )

A) o°88 50

B) Q&8 who
C) $08 o
D) @@&3555

1.

72.

73.

74.

75.

76.

SCIENCE

Choose right answer

R: Cool drinks contain acetic acid.

S: Fire extinguisher contains

Aluminium hydroxide.  ( )

A) Ris true, S is false

B) R is false, S is false

C) Ris false, S is true

D) Ris true, S is true

The Tasar silk worm mainly de-

pend on feeding of which tree

leaves ? ( )

A) Mulberry

B) Terminaliaoak plant

C) Neem

D) Pongamia

1km/h = ( )

A) 5/18 m/s B) 1000/3600 m/s

C)18/5m/s D)A&B

Limestone + Acids Heat ?
()

A) So, B) Co,

C) No, D) NaoH

If the temperature of place

increases, then the relative hu-

midity ( )

A) Increases

B) Decreases

C) Remains constant

D) Fluctuates

Muscle crumps occurs due to ac-

cumulation of ( )

A) Lactic acid

B) Acetic acid

C) Malic acid

D) Alcohol
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7.

78.

79.

80.

81.

82.

83.

Bod a8e® 3 ($8Dow
HBHP0, JND o) dYHhom
0008, ( )

A) Bogrsey cStSo)sao
B) Heosed cﬁéa)sao
C) 308 &880
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77.

78.

79.

80.

81.

82.

83.

In which of the following the size of
image is always smaller than the
object ( )
A) Convex mirror

B) Concave mirror

C) Silver mirror

D) Plane mirror

Which of the following is example
for symbiosis? ( )
A) Human - Plasmodium

B) Groundnut - Fungi

C) Legumes - Bacteria

D) All of the above

After the fertilization, ovaly con-

verts into ( )
A) flower B) seed
C) fruit D) plant

What is the P" range of acids
( )

A) 0-14 B) 7-14

C) 0-7 D) 14-1

Which of these is not considerd a
nutrient? ( )
A) Vitamins B) Minerals

C) Fats D) Fibre

The most commonly used natu-
ral indicator litmus is extracted
from? ( )
A) Lichens B) Turmeric

C) Beetroot D) China Rose
CFL blubs are considered better
than ordinary blubs what is the
reason? ( )
A) CFL’s reduce wastage

B) CFL's can be fixed in the
ordinary bulb holders

C)A and B

D) None
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84.

85.

86.

87.

88.

89.

Which one of the following process
in not a part of wool extraction

( )

A) Shearing B) Scouring

C) Sorting D) Reeling

Which one of the following gives
rise to new plant by roots?( )
A) Ginger

B) Sweet Potato

C) Rose

D) Orchids

Social Studies

The blue colour is used in maps
for indicating of ( )
A) Water bodies

B) Hills

C) Plains

D) Mountains

The Pakala Pond is located in

which district ( )
A) Chittor ~ B) Ananthapur

C) Kurnool D) Krishna
Evaparation takes place from
which of these? ( )
A) Oceans

B) Rivers

C) Lakes

D) All the above

Sea is called middle of

the world ( )
A) Black B) Caspian
C) Volga D) Mediterranean
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90.

91.

92.

93.

94.

95.

What is the number of MLA’s in our

state? ( )
A) 110 B) 274
C) 175 D) 284

Battle of Plassey and battle of
baxur were heldin

( )
A
B

1764, 1757

1757, 1857

C) 1757, 1764

D) 1857,1757

In which continent, the slave trade
was started at first time? ( )
A) Europe B) Africa

C) Asia D) Australia

The time from 1750 is called? ( )
A) Industrial age

B) Stone age

C) Machine age

D) Ice age

Water shed managementin india
started in ( )
A) June 1876

B) June 1984

C) March 2000

D) May 2001

The first governer general of the
british east india company was( )
A) John shore

B) Bentick

C) Corn wallies

D) Warnen Hastings
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96.

97.

98.

99.

100

“Nagaram”is also known as  ( )
A) Association of traders

B) group of main towns

C) Meeting place in a town

D) Association of farmers

The italian traveller who visited
the kakatiya kingdom is ( )
A) Vascodagama

B) paez

C) Nicolo konti

D) Marco polo

monsoon winds blow in
the summer? ( )

A) North east B) South west
C) South eastD) North west

Who invented the first locomo-
tive? ( )
A) John Loudon MC Adam

B) Wright Brothers

C) George stephenson

D) James Watt

Who wrote “Palnati veera
charithram” ( )
A) Tikkana B) Potana

C) Srinadha D) Nannaya
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